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One witness is believed concerning prohibitive acts.

OVERVIEW

The X n3 originally asked that two 0>7v should be required to testify that the
V3 was written 7w as is the case whenever witnesses are required. One may
assume that this Jwpn maintained that here by v we also require two 07y,
since it is a 'myaw 727, one of the categories” where two 0°7v are required.
The subsequent answer that since 10°X2 1281 X"V, therefore the m°%Ww alone
is believed, may leave us perplexed. We are discussing a v3, which is a 127
Myaw, how can the X3 compare this to M0°X. Our MdOIN discusses this
issue.

mooIn asks:

— DN NN NIYN NN 0N 1NN NYPN
The n''1 has a difficulty; what is this answer that the X »3 gave; that the 5w is
1K1, because P0°X2 X1 R"Y. This seemingly does not address the question at all>. We
cannot use the rule of PPM0°X2 1MX1 X"V, in this case. This is not a case of N7 MOK; this is

a case of N1y, which requires two 2>7v. To prove that this is not a case of M MOX
where one 7¥ is JAR1; N1DOIN continues —

— DOV INMNT TOISY NI VIN TPy
The main execution of this very same wx will prove that this is not a case of
N M MoK, for it is necessary that the vi be signed by two witnesses. If it
were merely I0°M 70X, we would not require two 2>7v. We require two 2’79 because by

a v we are dealing with a M7yaw 727; therefore how did the X n3 state that this is merely
a matter of 710°% and the °%w alone is 72X1 on the MW of this va?!

MDOIN answers:
— NX) N2 PIDINDI YAN) THAN TYT 9INRP 20T XV
And the n"1 answered; this is what the X713 is saying: that an XY is J2R1

by 195K even by a Mayaw 127, provided that it is in such a manner -
:NNYY AN DR PV XNYMN D RIN P98 PN 2IW) 125 YY) VIN TPV

! The process of a ba changes her status as an X nwX, and permits her to marry another person to whom
she was previously prohibited as an m7y.
2 They are: MIyaw 727 MWD1 17 ,M1AN "1°7.
? See previous 77 > 7"7 Moo, for a similar type question.
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Where the main execution of the wx was already completed properly with
two 0”7y, as is required for a M yaw 717 and subsequently all that is
required is merely information to notify us whether it was written
s,

SUMMARY

The 1870 who explains that the reason why one m°%w alone is 1281 to testify
that the vx was written 7nw?, is on account of the rule of P7I0°R2 81 R"Y; it
is his contention that merely testifying on the status of a i, that it was
properly drawn up, this testimony is not to be considered as a myaw "27.
Rather this should be considered as all other testimonies of n°7 MON,
where one 7V is sufficient. It is only when creating a v3 originally that the
rules of MYaw 127 apply, necessitating two witnesses to sign the 03, but not
however to merely testifying as to its validity.

THINKING IT OVER
1. How should we understand noo1n question as opposed to his answer?

2. Is a mMyaw 727 considered 70K ?

* This notification should not be considered a 7Wwaw =37 according to this j¥7n, since it is not
accomplishing anything in the v3. When the 0’7y sign on the v, they create the actual validity of the va.
However when the m>9w states that it was written 72w9, he is merely notifying that it was previously written
7nw5. The 1370 is of the opinion that such testimony should not be considered a mnyaw 127. Rather it should
be considered akin to 7n>m M0°X. The &7 nx however will presently reject this approach and maintain that all
aspects of a v3, even validating its status that it was written 7w?, is part of a mIyaw 727 process, and will
require two 2 7V.

* See n'"m.
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